@ CAD reference point

\Y//

BUBTEX
vivtech

CEPUA EURO

CoeMHUTENbHbIN LTYLEP C KNanaHoM } ST13 v
Martepuan: naTyHb, yinoTHUTeNbHoE KombLio Viton
STI309M141-5 | M14x1,5 [
~ 1 6 9 29|12 | 15 | 200 | 15 [
STI300R14 | 1/4" BSP 3 8 | &
- M16x1 |
R RPEIEIE, !
-
YrnoBoii coeMHUTENbHbIN LUTYLIEP } ST14 ——
L
Marepuan: natyHb U SwW
1:16 j
‘ == —— H
ST1400M08-075 | M8x075 | 45 | 9 | 27 | 9 | 23 1 o ‘
ST1409M101 M10x1 6,0 9 27 9 23 1 ‘ J
ST1409R1/8 1/8" BSPT L N
ST1413M141-5 M14x1,5 ~ ==
90 | 13 | 3 | 9 | 25 15
ST1413R1/4 1/4" BSPT | °' e |
@d2
Qd4
YIAMHUTENbHbIE WTYLEpbI [ ST15 ———
MaTepman: JlaTyHb L3
- Y
$T1509120 120 Ui I S
$T1509240 6 9 10 | 21 | 240 1 i e [ e I ——
$T1509360 360 sl
ST1513150 150 SW S
$T1513300 9 13 14 23 | 300 15
ST1513450 450 L

000 “BUBTEX" 127254, MockBa, yn. PyctaBenu a. 14, ctp. 6; Ten./dakc +7 (495) 755-91-45

www.vivtech.ru

info@vivtech.ru




nos ke

lpoxogHoe ceyeHwe
MaKCUMaibHbli @d = 6

MK 100
/ MK100-9 —
V;:’

MK100-9-PL

K MK1209

\ MK150-9
MK150-9-PL

ST14 9-M8x0.75 ST 14 /
ST14 9-M10x1 “»i:isﬂm
ST149-R1/8" =i
\ MK10-9V
MK10-9V-PL
ST15 9120
ST15 9-240
ST15 9-360
ST13 ‘ MK12-9V
= >J<
ST129 ST12 MK15-9Y
ST129PL === MK15-9V-PL
ST119-Mx0.75 ST
ST11 9-M10x1 /
ST119-R1/8" %
ST119M14x15
ST119-R1/4" MK20-9-R1/
MK200-9-M14x1.5
ST139-M14x15 MK2209Midx15 |
ST139-R1/A"
MK250-9-M14x1.5

AN

@ CAD reference point

000 “BUBTEX” 127254, MockBa, yn. PyctaBenu . 14, ctp. 6; Ten./dakc +7 (495) 755-91-45

www.vivtech.ru info@vivtech.ru



\V /L s EURO9

US 1700
1
GS 1090 US 1600
VM 200
———————————
VM 200 9 %I-;a;?”;us;—toi—L;ckT — US 1650

PTLH Jna“Push-to-Lock” US 1650 6 @

ST155 9-120 M14x1.5

ST155 9-240 M14x1.5 E:L—,:f =

HN

HN R1/8" - PL
HN M10x1 - PL

/- — -

\ ST 16
ST16 R1/2" %

ST16 R3/4"

[poune KOMMOHEHTbI
ST17

> [ST17 M14x1.5 - M18x1] E M1

@ CAD reference point

000 “BUBTEX" 127254, MockBa, yn. PyctaBenu a. 14, ctp. 6; Ten./dakc +7 (495) 755-91-45

www.vivtech.ru info@vivtech.ru



EURO 13

I'IpoxonHoe ceyeHume
MaKCUManbHbin @d =9

ST14 13-M14x1.5

ST14 13-R1/4"

ST15 13-150

ST15 13-300

ST15 13-450 ST15

o

************ e

ST1213 ST12

ST12 13 PL B

ST11 13-M14x1.5

ST1113-R1/4"

ST11 13-M16x1.5

ST1113-R3/8"

ST13 13-M16x1.5

ST13 13-R3/8"

ST 11

-

N/

N

\Y//

MK100-13
MK100-13-PL

MK120-13

MK150-13
MK150-13-PL

MK10-13V
MK10-13V-PL

MK12-13V

MK15-13V
MK15-13V-PL

MK20-13-R3/8"

MK200-13-M16x1.5 i

i
MK220-13-M16x1.5 !

f
MK250-13-M16x1.5

000 “BUBTEX” 127254, MockBa, yn. PyctaBenu . 14, ctp. 6; Ten./dakc +7 (495) 755-91-45

www.vivtech.ru

info@vivtech.ru

BUBTEX
vivtech

@ CAD reference point




@ CAD reference point

\Y//

BHBTCX EURO 13

vivtech
US 1700
GS 1090 US 1600
VM 200
[m20013 | He ona“Push-to-Lock” US 1650

P @

Jna“Push-to-Lock”

ST155 13-150 M16x1.5 Ezpif _

ST155 13-300 M16x1.5

HN

HN M14x1.5 - PL

HN R1/4" - PL

HN R3/8" - PL

| — -

HN R1/2" - PL

ST16 R1/2"

ST16 R3/4"

ST 16

ST17

ST17 M24x1.5 - M16x1,5 % i [poune KOMMOHEeHTbI
X

ST17R1/2" - R3/8"

000 “BUBTEX" 127254, MockBa, yn. PyctaBenu a. 14, ctp. 6; Ten./dakc +7 (495) 755-91-45

www.vivtech.ru info@vivtech.ru




nos ke

lpoxogHoe ceyeHwe
MaKCUMaibHbli @d = 6

MK 100
/ MK100-9 —
V;:’

MK100-9-PL

K MK1209

\ MK150-9
MK150-9-PL

ST14 9-M8x0.75 ST 14 /
ST14 9-M10x1 “»i:isﬂm
ST149-R1/8" =i
\ MK10-9V
MK10-9V-PL
ST15 9120
ST15 9-240
ST15 9-360
ST13 ‘ MK12-9V
= >J<
ST129 ST12 MK15-9Y
ST129PL === MK15-9V-PL
ST119-Mx0.75 ST
ST11 9-M10x1 /
ST119-R1/8" %
ST119M14x15
ST119-R1/4" MK20-9-R1/
MK200-9-M14x1.5
ST139-M14x15 MK2209Midx15 |
ST139-R1/A"
MK250-9-M14x1.5

AN

@ CAD reference point

000 “BUBTEX” 127254, MockBa, yn. PyctaBenu . 14, ctp. 6; Ten./dakc +7 (495) 755-91-45

www.vivtech.ru info@vivtech.ru



\V /L s EURO9

US 1700
1
GS 1090 US 1600
VM 200
———————————
VM 200 9 %I-;a;?”;us;—toi—L;ckT — US 1650

PTLH Jna“Push-to-Lock” US 1650 6 @

ST155 9-120 M14x1.5

ST155 9-240 M14x1.5 E:L—,:f =

HN

HN R1/8" - PL
HN M10x1 - PL

/- — -

\ ST 16
ST16 R1/2" %

ST16 R3/4"

[poune KOMMOHEHTbI
ST17

> [ST17 M14x1.5 - M18x1] E M1

@ CAD reference point

000 “BUBTEX" 127254, MockBa, yn. PyctaBenu a. 14, ctp. 6; Ten./dakc +7 (495) 755-91-45

www.vivtech.ru info@vivtech.ru



EURO 13

I'IpoxonHoe ceyeHume
MaKCUManbHbin @d =9

ST14 13-M14x1.5

ST14 13-R1/4"

ST15 13-150

ST15 13-300

ST15 13-450 ST15

o

************ e

ST1213 ST12

ST12 13 PL B

ST11 13-M14x1.5

ST1113-R1/4"

ST11 13-M16x1.5

ST1113-R3/8"

ST13 13-M16x1.5

ST13 13-R3/8"

ST 11

-

N/

N

\Y//

MK100-13
MK100-13-PL

MK120-13

MK150-13
MK150-13-PL

MK10-13V
MK10-13V-PL

MK12-13V

MK15-13V
MK15-13V-PL

MK20-13-R3/8"

MK200-13-M16x1.5 i

i
MK220-13-M16x1.5 !

f
MK250-13-M16x1.5

000 “BUBTEX” 127254, MockBa, yn. PyctaBenu . 14, ctp. 6; Ten./dakc +7 (495) 755-91-45

www.vivtech.ru

info@vivtech.ru

BUBTEX
vivtech

@ CAD reference point




@ CAD reference point

\Y//

BHBTCX EURO 13

vivtech
US 1700
GS 1090 US 1600
VM 200
[m20013 | He ona“Push-to-Lock” US 1650

P @

Jna“Push-to-Lock”

ST155 13-150 M16x1.5 Ezpif _

ST155 13-300 M16x1.5

HN

HN M14x1.5 - PL

HN R1/4" - PL

HN R3/8" - PL

| — -

HN R1/2" - PL

ST16 R1/2"

ST16 R3/4"

ST 16

ST17

ST17 M24x1.5 - M16x1,5 % i [poune KOMMOHEeHTbI
X

ST17R1/2" - R3/8"

000 “BUBTEX" 127254, MockBa, yn. PyctaBenu a. 14, ctp. 6; Ten./dakc +7 (495) 755-91-45

www.vivtech.ru info@vivtech.ru




	1,7,2,5-7
	1,7,2,5-7
	2

	2

